
Answer  FIVE question

1- Prove or disprove the following:

(a) A group of order 

(b) Any group of order 

(c) ( ){ , 1 4H e=

(d) The index of the subgroup 

 

2- Find two subgroups of

 

3- Find the distinct left cosets of the subgroup 

 

4- Find the zero divisors of the ring 

 

5- Let {0,2,4,6, 8,10,12S =

(a) Show that S has unity.

(b) Which element

 

6- Is :
2 2

x x
S x

x x

      = ∈        

 

7- Prove that the order of an element of a finite group divide the order of 

the group. 
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questions of the following : 

Prove or disprove the following: 

A group of order 25may have a subgroup of order 10 .

Any group of order 12  must have an element of order 

)}1 4 is a normal subgroup of 
4
S . 

The index of the subgroup i of the quaternion groupQ

Find two subgroups of
4
D  each of order 2 one is normal and one is not.

Find the distinct left cosets of the subgroup { 2 3, , ,H e α α α=

Find the zero divisors of the ring 
20
ℤ . 

}0,2,4,6, 8,10,12 be a subring of 
14
ℤ : 

S has unity. 

elements of S  have multiplicative inverses?. 

:S x
      = ∈        

ℤ a subring of 
2
( )M ℤ ?. 

Prove that the order of an element of a finite group divide the order of 
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8
Q  is equal 2. 

 one is normal and one is not. 

}2 3, , ,α α α of 
4
D . 

 

Prove that the order of an element of a finite group divide the order of 
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